
1 https://jpw-catalog-qa-b2c-5.corevist.cloud/jwbs-18-upper-blade-guide-assembly
7/18/25

JWBS-18 Upper Blade Guide Assembly
Product Images

https://jpw-catalog-qa-b2c-5.corevist.cloud/jwbs-18-upper-blade-guide-assembly


2 https://jpw-catalog-qa-b2c-5.corevist.cloud/jwbs-18-upper-blade-guide-assembly
7/18/25

Description

Index
Number Part Number Description Size Qty

 JWBS18B-1126 Upper Blade Guide Assembly (#1
thru 18)   

1 PM1500-095-01 Upper Blade Guide Support  1

2 PM1500-095-02 Eccentric Shaft  2

3 PM1800B-059-05 Retaining Ring S15 2

4 BB-6202ZZ Ball Bearing 6202ZZ 4

5 PM1800B-059-02 Knurled Knob  2

6 TS-1503101 Socket Head Cap Screw M6x45 2

7 PM1500-095-07 Spacing Sleeve  1

8 TS-1523011 Set Screw M6x6 2

9 PM1500-085-29 Retaining Ring S8 1

10 PM1500-085-28 Thrust Bearing Holder  1

11 JWBS15-1121-611 Ball Bearing 608ZZ 1

12 PM1500-085-26 Retaining Ring R22 1

13 PM1500-085-25 Adjust Shaft  1

14 PM1500-095-14 Hex Post  1

15 PM1500-095-15 Upper Guide Support Block  1

16 PM1500-095-16 Lock Knob  1

17 PM1800B-059-017 Cone Spring  4

18 PM1800B-059-04 Spacer  2

Additional Information

Stock Number 714700-8

Products in this set

https://jpw-catalog-qa-b2c-5.corevist.cloud/jwbs-18-upper-blade-guide-assembly

